2|

-

N £ O & AF &5 H
20178 & S04 LBHSIH SAAMEA A
SA: EAYMIDA
Hu: OB ZMES MAZRES
SR =L AAY (&t
SA - BB B () - MM - BES Ol &t o San HmEET
SMMAT A 9,166,442 8,255,684 910,758
1,363,820
| 546,857
< 7,255,765
OB B2 MAMBT 5,948,804 5,391,519 557,285
2 1,363,820
J| 546,857
< 4,038,127
2 S AY 2,646,710 2,119,022 527,688
= 1,310,720
< 1,335,990
AR 136,559 86,459 50,100
201 2et24d] 15,840 15,740 100
01 At 22l 9,840 9,740 100
ozg=¢ 5,640
- S IYUHEE S 70,0002 13 x43| 3,640
-SSdEECRAEE 100,000 5% »23| 1,000
- MEHH A3 100, 000& 5H 23| 1,000
Oul=l 1,200
- gAY E 100,000& »12H 1,200
Oz &l 3,000
- JIE2gidadEaRY 3,000
02 33224l 6,000 6,000 0
OA& &8l =Xl 6,000
-2 FH KRAE 4| 6,000
202 Od4dl 900 900 0
01 =2 LHO YI 900 900 0
OJ=&4Y Mo 900
206 TH 2 HI 1,500 1,500 0
01 = bl 1,500 1,500 0
OAr=s2HAS 300,000& x53] 1,500
207 Ao 118,319 68,319 50,000
EEET 118,319 68,319 50,000
OJt=z2gac & oz 37,235
-JIsEEuE ¢ ALE 800& +3,000A 2,400
- SHZEANCHEH 29 100,000& *353] 3,500
-JIREIASA JlzEa 50,000& 210 10,500
—Hd2EANE 20,000& »200AH 4,000
— NI ZHH 2 & Al 10,0002 2504 2,500
- S XE 10,000& 300 3,000
- E A 500& 7004 =103 3,500
i
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n0

Kio

Hl w

AT4,089

AT4,089

AT4,089

H3r
Wikd
RIS

937,039

937,039

937,039

Off &t 24

500
240
1,095
3,000
3,000
10,200
4,200
6,000
16,884
4,800
8,000
4,084
4,000
50,000

15,000
20,000

15,000

862,950
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466,379
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396,571
862,950

fir

466,379
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14,187
12,407

396,571
862,950
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290,080
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fir
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1,777
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n0

Kio

Hl w

12,477

12,477
12,477

709,200

H3r
Wikd
RIS

57,264

57,264
57,264

50,000

50,000

50,000

60,000

60,000

60,000

280,000

Off &t 24

450
1,753
1,703

4

fir

50
410,952
205,476
205,476

i

I

30,000
21,000

fir

9,000
3,620
3,620

69,741

i

69,741
69,741
69,741
69,741
69,741
69,741
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i

i
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H
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25,000
25,000
50,000
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2N FUMAA
FM: OrMSH FAE MASZ
¢el: JIELAAY (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 494,600
405 KHAHF SH| 989,200 280,000 709,200
2 494,600
< 494,600
01 XML 2 ZF S| 989,200 280,000 709,200
OZX 2 T4 | 30,000,000% =14 30,000
= 15,000
= 15,000
OAEU Set 50,000, 000& =14 50,000
= 25,000
< 25,000
OMicroplate XFS M= D| 20,000,000 *2JH 40,000
= 20,000
< 20,000
OAUTOCLAVE 13,200, 000& =14 13,200
2 6,600
< 6,600
ORealtime PCR 60,000,000 *2H 120,000
2 60,000
= 60,000
OssAdE2ds1 40,000,000& * 14 40,000
= 20,000
< 20,000
O&&:=+= M= 40,000,000 » 14 40,000
= 20,000
< 20,000
OaHMs0lZ 40,000,000& * 14 40,000
= 20,000
< 20,000
Oo=RZt 25,000,000 =14 25,000
2 12,500
= 12,500
OXXS Let0lXt HALEHI
200,000,000 =14 200,000
2 100,000
< 100,000
OMicroplate Reader 30,000,000 =14 30,000
2 15,000
< 15,000
OFAIFAH=DI 20,000,000% =124 20,000
= 10,000
< 10,000
OREXNEZD 80,000, 000& =14 80,000
= 40,000
< 40,000
OgdH2z+=dXts30]0] 45,000,000 =14 45,000
= 22,500
= 22,500
Ogetol el d Il 120,000, 0002 * 104 120,000

_4_




SH: BUMADL
M OHME SAME MBS
Sl PSS ALY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 60,000
< 60,000
O gsalzd 36,000,000% =14 36,000
= 18,000
= 18,000
OXts IS M| 60,000,000 =14 60,000
= 30,000
< 30,000
THS LA HEAE Y N (HHEXRE 2 268,260 268,260 0
x#)
2 100,000
< 168,260
101 14l 268,260 268,260 0
2 100,000
= 168,260
04 JI2ZtHZ22HEE = 268,260 268,260 0
Oogda=sxa 50,0003 «20H «250 250,000
= 100,000
= 150,000
Og&E 3 18,260
doJlEg=E SEXNZL BLAY 100,000 100,000 0
2 70,000
< 30,000
401 Al HIZ 2018 30,000 40,000 A 10,000
2 21,000
< 9,000
01 A& HI 30,000 40,000 A 10,000
ORRFE HRE £ dzd 2 30,000
= 21,000
< 9,000
405 XtaHE S| 70,000 60,000 10,000
= 49,000
< 21,000
01 AL ESFH S 70,000 60,000 10,000
OfE - HE Xz Fdl 22 70,000
= 49,000
< 21,000
GoiRie Q@ MY AARH S NA(AINFLT 30,000 30,000 0
g Xe)
= 15,000
< 15,000
405 XtatHE SHI 30,000 30,000 0
= 15,000
< 15,000
01 XA = ZFH SHI 30,000 30,000 0
Ot (CHA 30,000,000 =1CH 30,000
= 15,000




SA: EAYMIDA
M OB B2 MMBD
SR =L AAY cf
SA - BB B () - MM - BES Ol &t o San HmEET
< 15,000
FHSE LA MgAE P NIOIFEE(O2) 80,000 250,000 A 170,000
DUEE 2AH)
= 40,000
< 40,000
207 RO ] 80,000 250,000 A 170,000
= 40,000
< 40,000
03 AlE 32 80,000 250,000 A 170,000
ONEZHY(IIZ) 2UHE 2 A 80,000
= 40,000
< 40,000
SiE et zte] 1,504,671 1,183,120 321,551
= 53,100
J| 368,400
< 1,083,171
S HH A 571,993 565,466 6,527
101 @14 68,833 46,626 22,207
04 JIZHHZ2Z2XNSE+ 68,833 46,626 22,207
OE=Z 8% AEgEX 51,8803 »4H 300 62,256
OHABZHIUHEESZ) 6,577
201 Let24dy 62,700 63,600 A 900
01 At 2teld 18,200 12,800 5,400
Ogt=&H| 7,720
-SN2 Y 222 WA 5,000
ds0HY B2 HMA S 2,000
AN E HEBE 222 ME S 3,000
—EEZZANSEN HEEX MHME
80,000 x34 & 2,720
Of &= 5,400
—SMSZAME D 600,000& x9H 5,400
o=zg=¢ 2,880
—ANEHIZUHNEEE A S
100,000 »7H »23] 1,400
—SNEZAZ s e ZAH S
370,000& x2& #23| 1,480
o1l =l 2,200
-SMESZIAMN ZYS 100,000& »22H 2,200
02 833224 44,500 50,800 26,300
Osgt=Jt=<2 4s 3y 1,300, 000& * 13| 1,300
OZALZH H2E - n3d & FANE=+ 43,200
202 oddl 64,020 62,400 1,620
01 SLHOYI 64,020 62,400 1,620
6




SA =
of

<
Hu: ONE SNE MADI
& SAaSHd e (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O 2A I 64,020
—&tgl & Moltts &4 2,400
-SEZAM 57,000
- SUESAYE 4B S 3,000
—SMSZ AN DAY 1,620
204 AR A H| 25,200 24,600 600
03 EZYFFHI 25,200 24,600 600
Oere sl 50,0003 x42H 128 25,200
206 = Hl 94,500 124,500 230,000
01 MHZ 4l 94,500 124,500 230,000
ORES LAANS ABNE
6,000& *3,0001 18,000
OE=HAL A 2¢ 30,000& »400H 12,000
O A=ItLE A8z 18,750 2404 4,500
OE=I AU ES FHI 5,000 x8H «200 8,000
OZNAHFLE AHHBEXNH HEME
22,500& x1,200H 27,000
O =¢=2 AHLHAMN d4EME
16,0005 *625& 10,000
OH .22 &= T=ZAN M= 15,000
207 A RO H| 211,740 211,740 0
03 A& &34l 211,740 211,740 0
ONZSSEAM 34,700
OfKs3dZA 7,150 *3005 x12& 25,740
OASEIHE A4S A 10,000& »250 A 2,500
OO0l =& At 5,000& +9,000A 45,000
ONFTEEZA 6,000& *8,000 48,000
OYMH HWEZH A 50,000& 500 25,000
OLFZSEHIMN Al27L 4,000& *1,200A 4,800
ON&ETItA 100,000& 200 20,000
OAIE &t -l 3,000,000& +2Kl = 6,000
405 TtabF S 45,000 32,000 13,000
01 et EZFH S 45,000 32,000 13,000
OREMHIE 10,000, 000& = 1CH 10,000
O EHMAHDI 30,000,000 = 1CH 30,000
OHLHE D] 2,500,000 *2CH 5,000
FSAUSAMIADZ 2IH X2 289,064 451,484 A 162,420
| 178,400
< 110,664
101 @124l 118,464 107,304 11,160
| 44,160
< 74,304




SH: BUMADL
Hu: OB ZMES MAZRES
ol BagoEne CCHR-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 118,464 107,304 11,160
OFMsSZA BEx (0, HE3ZHl) 118,464
J| 44,160
< 74,304
201 et 60,600 101,180 A 40,580
p] 24,240
< 36,360
02 2324l 60,600 101,180 240,580
OsdSZMEHI R 60,000
J| 24,000
= 36,000
OF4EZ Ab=1 8l 600
J| 240
< 360
206 = Hl 110,000 0 110,000
J| 110,000
01 M2 4l 110,000 0 110,000
Osd=Z A M= HI 110,000
J| 110,000
SMSAMZAI2 ZAEE 7Y X 475,000 0 475,000
J| 190,000
< 285,000
405 XtatE SHI 475,000 0 475,000
J| 190,000
< 285,000
01 HAtH ESFH S 475,000 0 475,000
Ofs R4 HMMEI2E SA 24|
280,000,000 = 1CH 280,000
J| 112,000
< 168,000
OZEEE A 195,000, 0002 = 1CH 195,000
J| 78,000
< 117,000
THS LA HEABTRALRNR (ACHHA LS ZHA) 48,000 48,000 0
= 24,000
< 24,000
207 O] 48,000 48,000 0
= 24,000
< 24,000
03 Al & 1Hl 48,000 48,000 0
OLoiHALSHA JHIAE 50,0002 9604 48,000
= 24,000
< 24,000
HIDISE X A 75,414 73,970 1,444
101 @124l 14,914 13,470 1,444




SA BAMATA
Hu: OB ZMES MAZRES
& SAaSHd e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 14,914 13,470 1,444
OMDILEXEA B 51,8802 «1H 260 13,489
HEGH(UUHEEZ) 1,425
206 M= Hl 60,500 60,500 0
01 M= 4l 60,500 60,500 0
O2DI SKHEX S A 110,000& 5504 60,500
&S € HEHl XA 24,200 44,200 220,000
= 18,600
< 5,600
201 L4l 11,200 11,200 0
= 5,600
< 5,600
02 =224l 11,200 11,200 0
Os& = Ab==1H| 11,200
= 5,600
< 5,600
206 M= Hl 13,000 13,000 0
= 13,000
01 M Z 4l 13,000 13,000 0
OFHE=HEB AL M= HI 13,000
= 13,000
Al AE - A SLESIES BAEH X2 21,000 0 21,000
= 10,500
< 10,500
405 XHoHF S HI 21,000 0 21,000
= 10,500
< 10,500
01 AL EZFH S 21,000 0 21,000
OAltH & 8,000,000 *1CH 8,000
= 4,000
< 4,000
OF=3=3-19] 6,000,000 = 1CH 6,000
= 3,000
< 3,000
ORIt B 2AI 24 F 7,000,000% *1CH 7,000
= 3,500
= 3,500
=Yg & KA EE 1,094,127 1,115,100 220,973
J| 178,457
< 915,670
StRINEsEEE 525,877 500,390 25,487
101 124 dl 17,209 15,542 1,667
4 JI2ZtHZ2Z2XREES 17,209 15,542 1,667
OJtF AL 22l 2 X 51,8803 +300 1 15,564
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N E PN
OIFE Ep2 MMTD
HENY LRI BE )
SN HH-S(BN) - MBAY - B il HlnE2
OgEZH (4UHEEE) 1,645
201 et 63,197 61,558 1,639
01 At 22l 9,400 9,400 0
Oget=&H| 2,200
—HU=ZeA=2 100, 000& 55 500
-0lAESE=E 3,000& 5005 1,500
-E=E= 40,000& 55 200
o234 700
—ESIHELHEES 100,000 7 x 13| 700
oul=l 3,000
—JIEAZE 2= 100,000& 20 2,000
— O & A St 50,000& x20H 1,000
Oogxz 3,500
- IS itz 400,000 x53| 2,000
- =X Al2 2 2el 2 P =
500,000& 3 1,500
02 =224l 53,797 52,158 1,639
Os&22= & HA 950
- dIFAI =83 bl 500,000& x 13| 500
-=de0lAE3H & 150,000& 35 450
OA&EHl s Xl 52,847
- SMLLRUAIE S XU 25,000
— TMRAH = BH & D1 1,000, 0002 = 1CH 1,000
- EaH 2,000,000 *4CH 8,000
-3 2 500,000& »2H 1,000
= 0l=D| 400,000 »2CH 800
— =2 1,500, 0002 = 1CH 1,500
-S2LED| 1,000, 0002 = 1CH 1,000
- AHSEFHI(ZSD]) 1,000, 000& »2[H 2,000
UG == 200,000& = 16CH 3,200
-3 50,000& *30CH 1,500
- dEs=0DI 1,000, 000& »2CH 2,000
-s5U 5,847
2= 1,117.39& *4,5004 5,029
Y= 1,363.02& *6004 818
202 oddl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
Ost= Mot &4 1,000
206 M= Hl 22,382 29,782 AT,400
01 M= 4l 22,382 29,782 AT,400
OMEERE BXTY 13,392




2H: BNPMOIRA
M OB B2 MMBD
Sl IEWY L REN BE (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
-S4 23,000& *12.0ha*30kg 8,280
-2e 1,900& *12.0ha*180kg 4,104
-QQXEDetA 2 2& 8,000& *4.2ha*30kg 1,008
OXMEHMEE BEAUAMHFL 4,240
- Al XE de 100,000& =324 3,200
—-dE(a) 200,000& =44 800
- MR ES N 80,000& =34 240
OASHHNAE(ASXZTE2AE) 25,000&+70S 1,750
OYd=E(EAELE) 150, 000& *20Ef A 3,000
207 AT OH £ | 278,171 318, 108 N 39,937
03 A& FH| 278,171 318, 108 N 39,937
otlg ¥ s 72¢ 2,882
-2A 10,0003 *60 1L 600
-=§ 12,2003 *60 = 732
- M =X 3,500& *3004 1,050
- &= 10,000& *504 500
Ostd w2 10,000& *800st 8,000
OHHMEL P2 620& *500£ *103] 3,100
osgxe 13,000
OstZgoeeal el 12,000& *3005 3,600
O 8t AF2HH| 247,589
-SEAMEH] 538,083& *3005 161,425
- XA (HE) 142,350& *3005 42,705
— ZAFZ2HI(EIR2Al) 219,000& *1005 21,900
-%E 2 XYl 12,300
- IIISMELEE 9,259
401 Al HIL 200 46,918 19,000 27,918
01 Al &bl 46,918 19,000 27,918
OEHIAMNAXHE LM 8,018,000& x 14 8,018
OSE0l & ES(HH2) ME+=S A
19,900,000 *14] 19,900
OHIJIEAE U XANSSO0IAIEE X
19,000,000 *=14] 19,000
405 XHaHF SHI 97,000 55,400 41,600
01 M =S FSHI 97,000 55,400 41,600
OsJIHAE 72 97,000
-2 =24 97,000, 000& = 1CH 97,000
EZINEEZSE L =2ANAS 36,535 42,995 6,460
207 A O Y| 36,535 36,495 40
03 A& FH| 36,535 36,495 40
O S Xl AFSHHI 18,975




2H: BNPMOIRA
M OB B2 MMBD
Sl IEWY L REN BE (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- SEASHI| 165,000 *1005 16,500
-%=E 2 X ZH| 16,500,000 = 10% 1,650
- I SAILARE 16,500,000 *5% 825
O AFFHI 16,560
-sEAMEH] 24,000 *6004= 14,400
-%= 2 X =4l 14,400,000& *10% 1,440
- SMELAE2E 14,400,000& *5% 720
OMeHSEH| e a2l 100,000& *103] 1,000
MAHAZS) =dPA ST 138,681 135,903 2,778
101 @121l 28,681 25,903 2,778
04 JI2ZtH 22 XNEE % 28,681 25,903 2,778
OxdetdMag X 51,880& 2™ 250 25,940
OHEAHI (4HEEE) 2,741
207 A FOH ] 110,000 110,000 0
03 A&t 110,000 110,000 0
O MMES 110,000
- dHdTYE3E 1,250, 000& *8JH 10,000
— Al & 500,000& *305 *43] 60,000
- XX (Re)F S 100, 000& *50= 43| 20,000
-5t JXNEH INE 4,000& x5,0005% 20,000
MDII0IE M DNAZ AL D& 299 22,714 22,714 0
Jl 11,357
& 11,357
207 A FOH | 22,714 22,714 0
Dl 11,357
& 11,357
03 A&t 22,714 22,714 0
OASFCEH DNA S LA ZAH 27,700 *8205 22,714
Dl 11,357
= 11,357
S=RdNSH 8,720 8,720 0
201 Bt A H| 6,000 6,000 0
02 352494l 6,000 6,000 0
OA & &Hl S XYl 6,000
-SAdXNS#HAFH KA 100,000& *60CH 6,000
207 A O | 2,720 2,720 0
03 AlE &t | 2,720 2,720 0
OLWN2JFA 2 ) 170,000& * 164 2,720
4 ESANSUR =4 27,400 27,400 0
307 S12t0| & 27,400 27,400 0




2N
X ZH -
L= B

el

e g

Moz

o 40
o 0z
o

o rﬁ
10 W0y

o
=

il

A 0z
2

i O

™

BE .G (3) - MM - BES il
02 It M AHE L 27,400 27,400 0
Osla . ERNESIH ARIIBIELEXE 27,400
- de 0l A= 100,000 * 105 *80% 800
-z E= 40,000& *1505 *80% 4,800
- =SsEIC 20,0003 *3005 *80% 4,800
-~ NeSSMMEHS 200,000 155 3,000
- S0t M Ee = 200,000 705 14,000
EANBBEAMN 16,200 16,200 0
J| 8,100
< 8,100
207 A RO EH] 16,200 16,200 0
J| 8,100
< 8,100
03 Al & 11HI 16,200 16,200 0
OZANZSE Z A 16,200,000 =10 2 16,200
J| 8,100
< 8,100
Dss =Zet dAaXA 318,000 317,778 222
J| 159,000
S 159,000
401 Al& I 28I 318,000 317,778 222
J| 159,000
< 159,000
01 A& HI 318,000 317,778 222
OSA &= 318,000
J| 159,000
= 159,000
HAAR2Y 703,296 974,277 A 270,981
EArzel 691,496 962,477 A 270,981
201 YLEr2 A H| 436,046 451,003 A15,047
01 At 22l 10,000 10,000 0
Ogetd & =8| 10,000
02 =24l 426,046 441,093 A 15,047
OS==2 A 143,412
-&JIRsS 113,244
B N (AR A 54,552
IR-3=3 7,220 *500kWx 12 43,320
INE=2= 1043 +9, 000kW= 128 11,232
- SAE Z(ESIEAM) 3,864
2z 3603 «161kWx12& 696
AEZ 223 *12,000kW= 12 3,168
2EA MIIRS 6,828
gz 7,220 *50kWx 123 4,332
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2H: BNPMOIRA
Hu: OB ZMES MAZRES
ool HRARY (B9 ®R)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
NEZ 10421 *2, 000KW* 122 2,49
LW AB2AT HAA
2,000,000 x24&l x12& 48,000
-CXNEedessdls 30,000& =40~ 12& 1,440
A2 600,000& x12& 7,200
- XS XA 5,018
=858 550,000 =7CH 3,850
s& 100, 000& *3CH 300
SIS (HE) 158, 000& *3CH 474
- SIE(5Y) 88,000& =1CH 88
S SE(AY) 88,000& ~1LH 88
SRS 158,000& = 1CH 158
Q@ EH}HO| 60, 000& *1CH 60
- NSAEINEAIE=EE 50,000& *16CH *23] 1,600
-ANsSXHEEE 10,600
=858 700,000 =7CH 4,900
== 450,000& *3CH 1,350
SIS(HE) 900, 000& *3CH 2,700
St=(8E) 400,000 = 1CH 400
S SE(Ad) 300, 000& = 1LH 300
RSN 900, 000& = 1TH 900
- QEHHO| 50,000& *1CH 50
—GPS AtE 2 5,000& x15CH x12& 900
-2 S¥#oIE 2,000
—sFae|olsgdl (£=2) 30,000& *13] 30
-SIEMNEREE 2 1,380
i 35,000& = 16CH x23] 1,120
ANEEE 130, 000& *23] 260
OH =l 14,229
— & A 722 .913 80 *136L 7,866
- A& A& 722 .913 %80 x70L 4,049
- ANES2AM 722 .91& 80 x40L 2,314
OA & &Hl S XY 189,135
-2 2 295, 2UAE
3,584& «5,037m 18,053
— = A 1,584 7,757 m 12,288
-84 KX 2,000
-9 334 500, 000& *43| 2,000
-dAMRANES 3,000
Akl === 3,000,000 x13] 3,000
- I2A MEEY 1,000, 000& *43] 4,000
- RA AXNEY 1,150,000& *23] 2,300
-274 ZHWE 500, 000& =64 3,000
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SEPeX SERED)
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CHB - E(BH) - MM - B 0l &t o il Bl RE2
-ag4d | 2,000,000 x4 4l 8,000
—dEsEY RA 3,000,000& » 14! 3,000
—AdEgs HIISHM2AEY 1,250,000& »12& 15,000
-JIEgEs2 HIIM2EY 250,000& 123 3,000
- R0 FHES 450,000& =128 5,400
-AMAE BEIUEY 89
250,000& »12& 3,000
- LH=XM2EH 385,000 128 4,620
—&ojerEe|EE = 380,000& »12& 4,560
—giA FAEY 60,514
—Al HII=2 HMel 700,000& x12& 8,400
—Adgd dHHIIE Ml
1,000& *2,000kE 123 24,000
OXt& & B 79,270
-UsdsE(dE) 3,950,000& =7 CH 27,650
-SE(5¥) 5,800,000 »3CH 17,400
-2 (HE) 7,500,000 =3CH 22,500
-32(5¥) 4,040,000 »1CH 4,040
-2 (4 ¥) 3,840,000 = 1CH 3,840
- E=XE 3,840,000 «1CH 3,840
301 et 8= 200 1,384 N1,184
09 HALAHIE& S 200 0 200
OZ3RZAZZX SatHSHAL X2
20,0003 *23| x5H 200
401 A& HIZ 201 I 250,000 510,000 A 260,000
01 A& HI 250,000 510,000 A 260,000
O2xa AHAZE WHIBA 250,000
405 TtabH S| 5,250 0 5,250
01 AL ESH SH 5,250 0 5,250
OXaE FAMEHI(SHUA)
350,000& = 15CH 5,250
el obM g 11,800 11,800 0
201 LBt2H| 11,800 11,800 0
01 At 22l 11,800 11,800 0
Oger & S=AZH | 3,200
OXgIEHE A 5,000
Og74 NI HE A 3,000
Og=4 ot ze| =l 600
HE2LAIH(FaAMHARL) 3,217,638 2,864,165 353,473
ol 2yl 3,041,128 2,738,345 302,783
ol 2| 3,041,128 2,738,345 302,783
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SA B ER(EN) - AR - BES of & o4 San HIDZ2
101 @l H] 2,952,688 2,654,525 298,163
01 2=+ 2,691,128 2,409,080 282,048

OdEH 226,868
- (4sae) 81,860,000& 1 81,860
-58 72,504,000& »2H 145,008

OF=F=N] 1,618,559
-2y 1,213,843

=] 3,496,800 x13H x 12 545,501
= 2,672,100 x16H x12& 513,044
8= 2,461,400 x4 » 128 118,148

- 98 1,547,900 »2H « 128 37,150
-giax 404,716
o2t 5,310,000 x2& x12& 127,440

A AL 3,300,900 x7H ~12& 277,276

Ozelge=g 5,514,000 9% 1 123 5,956

odz2=+¢ 120,351

Ozxu===¢ 254,136
A2t 2RE 213,163
—E=ZM A2 14,784
-522f=g 26,189

OF= ) 187,187
-tE=g 33,720

bH < Xt 40,0003 *34H 128 16,320
A EH = 20,0002 x65H x 12 15,600
ks 30,0002 x5« 12& 1,800
- MESEEx+E 11,136
DSEW(1Z K ,0H) 464,000 *6Z *43] 11,136
-d2+80ti3 39,720
25301 & 130,000& 6 x12& 9,360
20 0] & 110,000& »7E «12& 9,240
1501 & 80,0003 x9H x12& 8,640
104 0] & 60,000& x99 128 6,480
5@ 0l & 50,0002 x10H 12 6,000
-AE2f+E 21,600
=3 50,0003 x28H «12& 16,800
S 40,000 =10 128 4,800
-R2EsRAE 50,0003 x1H 12 600
-HesREAE 33,371
ey 24,773
6= 3,485,000 4. 1%* 128 9 15,432
= 2,712,000& «4 1%* 122 +7H 9,341
A A 3,495,000 4. 1%* 123 5 8,598
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SA BAMATL
Hu: HFSYAH (S M0
Helr g2
SN EH - (EH) - HRAY - BES il
-Jl=s3d2+€ 3,840
A= 30,0003 x8H » 122 2,880
8~9= 20,0003 »4H « 128 960
- JIsd322<(JIA) 30,0003 x2H 128 720
- JIsHESZ (LIIAL
20,0003 x1H » 12 240
-JIsdE8+2(2&8F) 10,0008 «2H ~12¥ 240
-o=gesd 32,400
=g 150,000& 18H «12& 32,400
- 9,600
oA 80,000& x10¥ «12& 9,600
OFA=AH| 130,000 »47&H x12& 73,320
OZFZF Il 1,618,562,000% /128 x60%*23] 161,857
OSIIE &l 42,894
- HASH 226,868,000 /12+78%*86%/30% 10 4,228
-2=H 1,618,559, 000% *86%/12/30% 102 38,666
02 JIEtE B = 69,504
O3SYH=2AM 69,504
-SE YR 600,000 x7H «12& 50,400
-FEg2efxE 50,0003 x7H » 12 4,200
—Az2eZRE 14,904
03 RIAHA22RHE 192,056
Od=L2& 178,982
-2 53,5003 x5H 260 69,550
-&N=2 69,550,000% /12 *400% 23,184
- A2t 10,0313 «5F 154 2t+ 128 9,028
P = 53,500 x5H 152 4,013
- =54 53,5003 x5 105 28,088
- 5dI2RE 80,2503 x5H » 142! 5,618
-ZAJI25+4 21,4003 +7 .28 x5H 128 9,245
- g Z S0t 69,550, 000% /128 x60%+*23] 6,955
-JtE+=d 40,0003 x5H 12 2,400
- JtAXI&8l 69,550,000& /12 «80%/2+23| 4,637
- sl 110,000 x5 x12& 6,600
- = gl 130,000 5 «12& 7,800
- NESHIEE+E 466,000 1 x43] 1,864
OHERES=S 13,074
-ZPASRES 178,982,000& x4 .5% 8,055
- 1E22ERYE3 178,982,000& *1.5% 2,685
—MATHER = 178,982,000& *1.304% 2,334
204 X243 | 88,440
02 32 x| 88,440
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-7= 140,000 16H 128 26,880
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201 LBt HH| 64,110 52,920
01 At 22l 60,480 49,290
OJ12=8tl 9,880
OJlEs gl 15,600
ozg=¢ 24,200
—dR (=) 50,000& 119 5,950
-Y=H(EF SAH) 50,0003 *365& 18,250
O2sLd A=A =HX I
300,000 x3H 128 10,800
232%H| 3,630 3,630
O333ZLAA 3,630
-RBEYSE 3,630
04 dl 48,000 48,000
=L 48,000 48,000
OJI2nl 48,000
LRI 16,500 16,500
SIEETEES N 3,300 3,300
(OEFS; 3,300
AN H =AY 1,800 1,800
O A& FH| 40,000& »45H 1,800
EA2E I RFAHI 11,400 11,400
O A2 A 350,000& »12& 4,200
Oogd 250,000& 128 3,000
OSFANEEH 350,000& »12& 4,200
e LY 8,400 8,400
MR LAY 8,400 8,400
Oa¥ 400,000& 18 «128 4,800
O 100,000& x3H 123 3,600
XHakE S| 39,500 0
T E S FH S 39,500 0
OAMRI1D1 7 39,500
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